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T iaE LS RMS
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(2) ~ OSU91A(n=5) -0.614952 27.1046 27.1114
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(Hi: oz
(b)) 1055 #75%
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(1) ~ EGM96(n=10) -0.765217 28.8842 28.8942
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(a) 5refst

T iaE i RMS
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3067 A4t B BEMHAR IR T4

X Y z

- 9.02092E-11 3.85434E-10 1.12550E-10
B -4.42606E-04 -1.26283E-04 -5.87592E-04
5) - A5l FAcde =B ARFFEA IS 1T = 2.37602E-10
P - X 5P EAndn il B A3 = 4.30934E-04
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% 6-8 Acdp R MRV - T A

Vi Vy Vz
- 8.09022E-12 8.48053E-11 1.03901E-10
= -3.73308E-08 3.11833E-07 -4.74014E-07
5) - X 5fpfe BAcdnid RAPEEZ35° 49 = 7.75731E-11
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() SHIEFTHEE

- % 5 i = x5 @

Cd Cr ; Cd CI’

4.54404E-05 1.38120E-06 9.80370E-05 3.63589E-05

-9.54249E-05 -2.07180E-06 2.05878E-04 -5.45384E-05

(b) 10 Fé L T & 5

- % 10 H | = % 10

Cd Cr i Cd Cr

1.02016E-04 1.642930E-05 4.55806E-05 2.03497E-05

2.14234E-04 -2.464407E-05 9.57194E-05 -3.05245E-05
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# 6-10 g5 thlcfc BMH AV R- T £

() SHIEFTHEE

- O = = 5 ¥
| do a1 Y] do a1 o
d i -1.47063E-10  4.04378E-10 1.29297E-09 i -7.25562E-10 -5.12029E-09 -7.25026E-10
d-RMS | 7.86749E-10 3.01494E-09
b by b, bo by b,
d E 1.12986E-12  -6.19476E-10  2.43996E-10 i -4,58699E-12  3.59132E-10  -2.55581E-09
d-RMS | 3.84398E-10 1.4901E-09
I Cy C, Co C C,
d i 1.48067E-10 -1.56826E-11 -1.02201E-10 i -3.24326E-12  9.63927E-13  -6.35014E-12
d-RMS | 1.04267E-10 | 4.1542E-12
8 RTN = = % — 21 14 0 A% 9415 4 RMS 5.09119E-10
& RTN = & 5 =2 T B 5% A8 5252 RMS 1.94167E-09
() 10 FEFEF 1R &
- = 10 B ' = oz 10 B
do dp do do d1 dy
d E -2.90291E-10  4.72651E-10 1.00262E-09 i -6.75452E-10  2.40413E-09  -5.16109E-09
d-RMS | 6.61540E-10 3.31023E-09
by b, b, bo b, b,
d i 3.07713E-12  -4.74612E-10 2.76775E-10 i -1.06196E-12  2.57829E-09 1.20717E-09
d-RMS | 3.17212E-10 ' 1.64366E-09
Co C1 C2 Co C1 C2
d 1.47401E-10 -1.80290E-11 -1.03030E-10 -4.75097E-12  1.30284E-12  -7.43764E-12
d-RMS | 1.04351E-10 5.15065E-12
8 RTN = % 5 — % L pp o5 5% #3524 RMS 4.27843E-10
e RTNZ S 5= 3 L os 48 #3842 RMS 2.13380E-09
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74432 1 359> 43 (d-RMS) 1.38711E-09
5 FEAz 417

¥EL (&) 1.62059E-05
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- X ST I\:'—z-r :gabfﬁﬁ'{

¥EL (&) 4.85821E-07

B¥E e 42 (d-RMS) 2.21676E-11
= X b e Bk ik

EEL (¢) 2.58989E-07

B¥ e 42 (d-RMS) 2.43266E-07
10 P A= 452

p¥EiL (&) 4.47633E-05

B4R L 39 42 (d-RMS) 6.66673E-10
- =x 10F \:'-ﬁ/ 'ﬁﬁt

AA¥FEL o) 1.48933E-05

BHEZL I3 (dRMS) 2.95225E-10
=X 10/ e B R v

¥ (e) 6.59526E-06
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% 6-12 * pAz R EH AR e (i=727)

(a) 5refst

T HE L RMS
(1) ~ EGM96(n=5) -0.615510 27.1040 27.1107
(2) ~ OSU91A(n=5) -0.614952 27.1046 27.1114
() ~5rmEH (- %) -0.615738 27.1041 27.1109
(4)~5HRFEHS (=232) -0.615624 27.1041 27.1109
OROELES: -0.000558326  0.0468124 0.04681530
6)~ (D)&EQ)4 & 0.000228131  0.0013556  0.001374650
M-~Ve@ie 0.000114088  0.00077205  0.000780428
(Hi=:2e)

(b) 10 rs5¢

LS i RMS
(1) ~ EGM96(n=10) -0.765217 28.8842 28.8942
(2) ~ OSU91A(n=10) -0.762692 28.8864 28.8962
(3)~10FFfe & st (- %) -0.766833 28.8836 28.8935
(4~ ~10Fr e H s (=22) -0.765361 28.8846 28.8945
G)MeEirE -0.00252524 0.1142200 0.1142470
(ORNVELCIERR 0.00161663 0.0394643 0.0394971
MH-~e@Hie 0.000144332 0.0171438 0.0171443
(@ SR
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%613 £4 B ¥ PEMHR S RE (=727)

(a) 5refst

T iaiE HE L RMS
(1) ~ EGM96(n=5) -0.305298 8.82406 8.82927
(2) ~ OSU91A(n=5) -0.304744 8.82474 8.82994
B) 5B (- %) -0.305274 8.82416 8.82937
(4)~5HmEHS (=2) -0.305810 8.82410 8.82931
OROEIAES -0.000554595  0.026862400  0.026867900
6)~ ()&EQ) 4 & -2.47126e-005  0.000589564  0.000590077
M-~Ve@ie -1.74276e-005 0.000324746  0.000325211
(E = : mgal)

(b) 10 45t

I ot et RMS
(1) ~ EGM96(n=10) -0.325138 12.4057 12.4099
(2) ~ OSU91A(n=10) -0.321010 12.4126 12.4166
(B)~10FFfm H s (- %) -0.326693 12.4081 12.4123
(4)~10F e EHs (2%)  -0.325363 12.4060 12.4102
OROEIAES: -0.00412769  0.1285970 0.128662
6)~ (D)&EQ)4 & 0.00155559 0.0422756 0.0423039
GRNOELCESES 0.000225031  0.0179680 0.0179692

(H = :mgal)
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# 6-14 OSU91A #iif 2 EGMO6 Ir Fy #iuif v - T & (i=72°)

R T N

- 5 d-RMS 3151966565E-01  3.100668688E+00  3.394871745E-01

L - % S pFpuE RTN % #4324 35° 13 = 1.81004E+00

= 5 d-RMS  3234182538E-01  7.959586619E+00  5.986947169E-01

S (' = X SpFpuE RTN @ 4384353 48 = 4.61223E+00

- 10 d-RMS 2766428573E-01  6.741701641E+00  4.483822823E-01

T fg - % 10 pF#LiE RTN @ %4324 397 43 = 2.25461E+00

= 10 d-RMS  2855482728E-01  1.972635404E+01  4.331252763E-01

SL = % 10 FF i RTN B #3435 48 = 1.13930E+01
(Hi=:2r)

% 6-15 f18 juif Lo EGMOB o fi i vt o~ T % (i=72°)
R T N
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S - % 5pfduiE RTN G 4354 395 48 = 2.13139E-02

= 5 d-RMS 2.26632E-03 1.59286E-01 1.35331E-03

S = % 5pFguE RTN @ 4324353 43 = 9.19765E-02

- 10 d-RMS 5.02721E-02 3.25078E+00 7.12239E-03

T - % 10 FF i RTN % ¥4 52 43 = 1.87707E+00

= 10 d-RMS 1.98401E-02 3.69749E+00 3.27660E-03

S = 2.13478E+00
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